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Instructions for the Candidates
Write your roll number in the space provided on the top of this page.

2. This paper consists of fifty multiple-choice type of questions.

At the commencement of examination, the question booklet will
be given to you. In the first 5§ minutes, you are requested to open
the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing or
duplicate or not in serial order or any other discrepancy
should be got replaced immediately by a correct booklet
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example : (A) ® O

where (C) is the correct response.

(ii)

(iif)

. Your responses to the items are to be indicated in the OMR Sheet

kept inside the Paper I Booklet only. If you mark at any place
other than in the ovals in the Answer Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself liable
to disqualification.

You have to return the test question booklet and OMR Answer
Sheet to the invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There is no negative marks for incorrect answers.
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Note : This Paper contains Fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions. There is only one correct answer to
each question.

1. w3, 0o @godado womd FRIOT 1. The (Fhenomenon of size constancy is

Q@ g
©0R) B 43T . based upon the close connection between
200688 Forodd sHed SN, g‘grg’;’gsg; A e 15 b
(A) ™3 : wwo (B) ™3 : @o2o (A) Size : Shape
(C) ™3 : I3 (D) &0 : 2033 (B) Size : Distance

(C) Size : Brightness
(D) Shape : Distance

2. An artist paints a tree orchard so that the
parallel rows of tree converge at the top

of the canvas. Which we has the artist used
to convey distance ?

(A) Interposition

2. L3F FRT 2o Doond naoa‘igt TUBATI.
©T0Y, ARR0IT MWLMIYT BOTEd, TT A
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a b c d
(A) 1 2 3 4
(B) 3 1 2 4
© . 3 4 1
(D) 3 2 4 1

(B) Relative size
(C) Linear perspective
(D) Light and shadow

. Match List I with List II and select the

correct answer using the codes given
below the list.

List I List II
a) Interposition 1) Stereoscopic
view

b) Retinal disparity 2) Shadow
c¢) Depth perception 3) Monocular cue
d) Figure-ground  4) Contrast

Codes :
a b C d
(A) 1 2 3 4
(B) 3 1 2 4
(© 2 3 4 1
(D) 3 2 4 1
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4. The fact that a white object under dim

illumination appears lighter than gray
object under bright illumination is called

(A) Lightness constancy
(B) Relative luminance
(C) Perceptual adaptation
(D) Color constancy

. Assertion (A) : In horizontal — vertical

illusion the vertical line appears longer.
Reason (R) : This illusion rely primarily
on depth cues and causes us to over
estimate the height of vertical line.

(A) Both (A) and (R) are true and (R) is
the reason of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

. Which of the following is a form of

associative learning

(A) Classical conditioning
(B) Operant conditioning
(C) Trial and error learning
(D) All the above

. Which one of the following types of

reinforcements is important in learned
helplessness

(A) Positive reinforcement
(B) Negative reinforcement
(C) Intermittent reinforcement
(D) Negative and punishment

8. If you were Skinner, which of the

following would you say will be involved
in the process of language acquisition of
children

(A) Innate pattern
(B) Aversive training
(C) Shaping

(D) Imitation
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9. Match List I with List I and select the
correct answer using the codes given
below the list.

ListI List 11
a) Positive 1) Decrease in
reinforcement behaviour

b) Punishment  2) Preconditioned

level

3) Increase in
behaviour

¢) Extinction

d) Differentiation 4) Responding to
original stimuli

Codes :
a b & d
(A) 3 1 2 4
(B) 1 2 4 3
(C) 2 4 3 1
(D) 4 3 2 1

10. Assertion (A) : Positive reinforcement
increases the likelihood of desirable
behaviour

Reason (R) : Positive reinforcement
doesnot produce pleasure or satisfaction

(A) Both (A) and (R) are true and (R) is
the reason of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

11. Visual memory is referred to as
(A) Iconic memory
(B) Echoic memory
(C) Photographic memory
(D) Explicit memory

12. Memory for skills is called
(A) Explicit memory
(B) Declarative memory
(C) Episodic memory
(D) Implicit memory
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a b c d
(A) 1 4 2 3
(B) 2 1 4 3
(C) 3 2 1 4
(D) 4 3 2 1
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The eerie feeling of having been some
where before is an example of

(A) State dependency
(B) Encoding failure

(C) Priming
(D) dg&ja vu
Match List I with List IT .
ListI List II
a) Flash bulb 1) Memory
memory schemes
b) Mnemonic 2) Striking
devices events
c) Semantic 3) Incomplete
memory task
d) Zeigarmic effect 4) LTM
Codes :
a b c d
(A) 1 4 2 3
(B) - 1 4 3
© 3 2 1 -
(D) 4 3 2 1

Assertion (A) : Constructive memory is

accomplished through the use of schemata

Reason (R) : Schemata increases our

cognitive efficiency by telling us what to

expect and how to act.

(A) Both (A) and (R) are true and (R) is
the reason of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Using same solution for each kind of
problem, even when there is a simpler
alternative reflects

(A) Functional fixedness
(B) Trial and error thinking
(C) Mental set

(D) None of the above
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(A) 1 4 2 3
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(D) 4 1 3 2
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Syllogisms such as “All men are mortal,
and Bert is a man : Therefore Bert is
mortal” exemplify reasoning.

(A) Linear

(B) Categorical or deductive
(C) Inductive

(D) Conditional

When forming a concept, people often
develop a best example, or ,ofa
category.

(A) Denoter

(B) Algorithm

(C) Heuristic
(D) Prototype
Match List I with List II and select the

correct answer using the code given
below the list.

List I List II
a) Incubation 1) Reasoning
b) Heuristics 2) Creative

thinking
¢) Syllogism 3) Problem
solving

d) Generalized idea 4) Concept
Codes :

a b c d
(A) 1 4 2 3
(B) 2 3 1 4
© 3 2 4 1
(D) 4 1 3 2

Assertion (A) : Heuristics can lead to

correct conclusions.

Reason (R) : Heuristics are only general

rules that do not validly apply to every

instance of decisions making.

(A) Both (A) and (R) are true and (R) is
the reason of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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Electrical stimulation of the lateral
hypothalamus will cause an animal to

(A) Begin eating

(B) Stop eating

(C) Begin copulating
(D) Stop copulating

Unexplained physiological arousal is
most likely to be interpreted as

(A) Positive emotion
(B) Negative emotion
(C) Illness

(D) Irrelevant

Some human behaviours are sufficiently
automatic to qualify as

(A) Needs (B) Instincts
(D) Incentives

Match List I with List II and select the
correct answer using the codes given
below the list.

ListI List II
a) Polygraph 1) Thirst
b) Regulatory 2) Stable
motive internal state
¢) Homeostasis 3) Palm
conductance
d) Papez circuit 4) Limbic system
Codes :
a b c d
(A) 3 1 4 2
(B) 1 4 2 3
(© 3 1 2 B
(D) 2 3 1 4

Assertion (A) : Losing weight is difficult
and gaining 1t is easy
Reason (R) : We loose weight because
metabolism slows down; and deprivation
increases intake

A) Both (A) and are true and (R) is
(4) the regasgn of 83 ®)
(B) Both (A) and (R) are true, but is

not the correct explanation of ERA%

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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(D) 4 2 3 1
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The concept of the intelligence quotient
was developed by

(A) Galton (B) Binet

(C) Stern (D) Terman

Thurstone’s primary mental abilities did
not include

(A) Verbal comprehension
(B) Perceptual speed

(C) Spatial reasoning

(D) Musical ability

The existence of reinforces the
generally accepted notion that
intelligence is a multidimensional

quality.

(A) Adaptive skills

(B) General intelligence
(C) Mental retardation
(D) Savant syndrome

Match List I with List II and select the
correct answer using the codes given
below the list.

ListI List IT
a) Aptitude test 1) Biochemical
disorder
b) Phenylketonuria 2)Chromosomal
(PKU) aberration
¢) Terman 3) Ability to learn

something new

d) Down’s syndrome 4) Stanford Binet

test
Codes :
a b & d
(A) 2 3 1 4
(B) 3 1 4 2
(O 3 4 v. 1
(D) 4 2 3 1
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(C) SR8, o, woon, I3, Sond

(D) =P8, Song; 13, w3mon; T3

Ro3RE FB,0NODINT Tw

A) = ocbz:b 23’3{36 daﬁfgp’ =oee? e:aas’rfé bnte]
T, aboa) 306033 BOAT

(B) sondgoens ece Aty o Tgene e
eﬁdﬂs T T, daos) rs’obsi) DOAT

(C) TR0 Tewwsod TN, 3,880
d&ﬁm@mod&rﬁ%&&aﬁn&)mm

(D) o, 8o ) N ried 383,03 Ceskinted
20T TR BeOR) 3,

30.

. I8

32.

33
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Assertion (A) : Guilford hypothesizes two
dimensions of intellect.

Reasoning (R) : Each dimension has
numerous attributes and combinations of
dimensions and these attributes yield 150
separate factors.

(A) Both (A) and (R) are true and (R) is
the reason of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Projective tests have been criticized because

(A) Of rigid scoring system

(B) They are standardized with un
representative sample:

(C) Of their low reliability and low
validity

(D) They are easy to fake answers

Which of the following is the correct order
of psychosexual stages proposed by Freud ?

(A) Oral; anal; phallic; latency; genital
(B) Anal; oral; phallic; latency; genital
(C) Oral; anal; genital; latency; phallic
(D) Oral; phallic; ahal; genital; latency

Neo-Freudians believed that

(A) Freud placed too great an emphasis
on the conscious mind

(B) Freud placed too great an emphasis
on sexual and aggressive instincts

(C) Childhood years were more
important in the formation of
personality than Freud indicated

(D) Freud’s ideas about the id, ego and
superego as personality structures
were incorrect
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34, @y 1 g, 11 Srodrt Seodrd S03) gt 34. Match List I with List II and select the
QeRTOR FREBONTIY VT O3ReNITRLOB correct answer using the codes given the
RO ZTHR), SO0, BRI,

231 =43, 11 List I List II
a) bR 1) Fans ws) osos a) Identification 1) The two way
# B interactions of
03ngRo0N SSFracd behaviour with
[URoD BowwT personal and
b) mcIRERA 2) B3 T eHATS environmental
= g factors.
TR T, ST &0T8, b) Empiricall 2) Tnf .
§ mpirically ormation that
RGBS sttt derived test is retrievable but
C) edReR 3) RoF IR NSFITY currently not in
ORI 28RS Fpewes consciousness
TRYNE, ¢) Reciprocal 3) The process by
TESBRWE Fyodo determinism which children
— . incorporate their
d) = AroS 4) SRNTRY waeBs, parents values
B, BB, into their
SORIRT developing super
€go’s
RN d) Pre-conscious 4) Pooling items and
a b c d selecting those
3 that discriminate
AR R
5 a b c d
© 3 244 1 (A) 3 4 1 2
o 3 2 1 4 (B) 1 2 3 4

35. 2038, (A) : FII3 0,7 b IR, By & £ * |
Sodmlors BIRBHRRRURIT. ) # 4 4+ n
506 (R) : 2,03%0 Gadea ©5d o83 | 35, Assertion (A) : Twin studies of personality
BBy FoFw VBN F33.3 Boed g suggest a substantial genetic component.
2R, Reason (R) : Evolutionary view point

3 believes that both environmental and
(A) (A) = (R) néc@e =8, 283 (A) #(R) genetic factors influence personality

TTLTING (A) Both (A) and (R) are true and (R) is
(B) (A) 23 (R)réc@n 58 =83 (A) 7H(R) the reason of (A)

2003na OS8R (B) Both (A) and (R) are true, but (R) is

— not the correct explanation of (A)

(C) (A) 33 5w (R) =%, (C) (A) is true, but (R) is false
(D) (A) B, =38 (R) = (D) (A) is false, but (R) is true

StudySite.org : StudySite.org


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

StudySite.org StudySite.org

36. 2.2 Fodrenodd 2300 0 LT OARZ 36. An experimenter manipulates

A) Rab B) R0333raing variable.
EC; 23 0;%9@ ((D§ - au’%ow; (A) Control (B) Interviewing
E (C) Independent (D) Dependent
3 :’)Oai@@f IRITY, BRIFe WO | 37, Change in one variable produce changes
B0003ROT WRRTROID SBRRD 30033 in a second variable only with the
WBTBEODIY, YV0L0 BREBT. research method.
(A) aﬁdﬁﬁrﬁ aeam (B) ®=on Bgdes (A) Naturalistic observation
(C) Az-Rowone (D) wwo3eend (B) Case study
(C) Correlational
38. FodreNcIRnd e5eme PRNELRRITING c3RT) (D) Experimental

B3 menc RooeROgowRcy R8) cindb Bohegsd

R0 TORT 20T 20T oy | 35+ A research design in which neither the
g £l

experimenter nor participants know who

ROBRETT DT is in the experimental group and who is
(A) -3 SR in the control group.

(B) Srodad moas mR (A) Double-blind design

(C) o3y dadeensod O (B) Matched - group design

(C) Random assignment design
(D) All the above

39. @I & @) I Spolrt Beodnd a2y 891 39 \rovon Tist T with List II and select the

(D) eds e sodynee B0

QR EREEMER) CUT03ReNERORE FOIRT correct answer using the codes given
SUBTTR), SORD. below the list.
=3 1 = I List I List II
a) Q0mRgE 1) e BIR0B,0008 B9, a) Descriptive 1) A small number of
Rodnegs =303 research people from large
b) wodrd acd  2) ainEide PrRad . papulaion.
Q i b) Hypothesis 2) Used in the first
BB el een=iRrig investigation of
c) TREFRNTO 3) DRI ‘ any phenomena.
IBERTREOIRD 2303953 :289008 c) Representative 3) Beha;riour chlanges
% merely sample
. e because the subject
d) mmzuiee 4) 3o é)a“odaﬁ%%s‘)ﬁ@%, expects it to change.
TWOFITO QBB SRV d) Placebo effect 4) A conjecture that
PR, 00 explains some facts
and predicts
BREEIND : others
a b c d Codes :
a b c d
(A) 2 4 1 3 A) 5 4 1 3
(B) 2 1 3 4 ) 5 1 3 1
© 2 1 4 3 (C) 2 1 4 3
(D) 1 4 2 3 (D) 1 4 2 3
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40.

41.

42.

43.

Q8w (A) : 5,308 Bopodndx Todeenodn
WEOWAIZYS.

500 (R) : mz;gsa,@a B203Y, ®,308, [oB
E00RE Bo0BNY IBEINT 20 JOET
#owozﬁﬁ&‘gpqﬂ?a:’ogd

(A) (A) R (R) ndoin 58 3522 (A) H(R)
BTN G

B) (A) 2= (R)récan =2 2523 (A) #(R)
RocInG DEoBaDe,

(O) (A) =3, =8 (R) 2o

(D) (A) % &35 (R) =3,

VI3 DT DoUNY TR0 .08 BB
3993030

(A) S50300 e¥8nsd

(B) gxbmnus eddnsd

(C) ebmmecodd eeiEned

(D) mRng, odEnd

wore WIT HTB VFPT WPT WD wowd

m’aea;cmaﬁ’gt ReBIT DAROT e:aa’s‘éojoa’aﬂ
QBFOROT 2,080 DGOTey)

(A) &P -9 N QPNT BTFS

(B) w3303 Dodnsod des

() Bdor-ouars wxrd

(D) @oed-=odmoedod w3

%), F30320 O WRTD DOWITTY, oL
DWARRPAT TOF O

(A) gz Toes,

(B) mpSod =0

© 383

(D) et
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40. Assertion (A) : Independent variables are

41.

42,

43.

manipulated by the experimenter

Reason (R) : Intervening variable
determines causes effect relationship
between independent and dependent
variable.

(A) Both (A) and (R) are true and (R) is
the reason of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

A superior measure between the various
levels of measurement is

(A) Interval scales
(B) Ordinal scales
(C) Ratio scales

(D) Nominal scales

A method of determining reliability by
administering a test two or more times
to the same person is known as

(A) Split-half reliability
(B) Alternate form of reliability
(C) Kuder-Richardson reliability
(D) Test-retest reliability

Test designed to measure what a person
has accomplished is

(A) Ability test

(B) Achievement test
(C) Personality

(D) Aptitude
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4. 3131 & Fe3, 11 ol Hpodrd Ly 39
REBITOR ARERITER) HUBAIRENAEROR FOTIRT

NUFTHR), S0%0.
a%l Y, I
a) SVIB 1) &68r SMAND

b) SoBeeanseodnsd 2) wieRnoy)
c) D0deezd cdneds 3) AesRr B

zoggne
evzodeen
d) 20rR W% 4) wBdR T,
90sjd ot
NREGITYTID
EReEND :
a b c d
(A) 4 3 1 2
(B) 4 2 3 1
(®)) 4 1 2 3
(D) 3 E 1 2

45. 2T, (A) : 2,000 TWOLE 30T, BTWLOWR-
WIRITRNTIZT STT LT S5 moNCLIForsede);
508 (R) : 008 ASFRRI 2,080 Toegodn
BT, T YTOWSTONTLIER.

(A) (A) % (R) ndoEn =8 =3 (A) #(R)
F0mINT

(B) (A) 3 (R)rivc@n 53 523 (A) 7 (R)
ROOSRT NBTHODY,

(C) (A) 33 5TBR) Boey

(D) (A) Rty ST R) 3

46. NO, tRBFAT BLTEIBOD WD)
(A) Fpeodn
(B) g
(C) 23 Fies
(D) =83 Sreke
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44. Match List I with List II and select the
correct answer using the codes given
below the list.

ListI List II
a) SVIB 1) Novel patterns
b) Psychometrics 2) Unchanging
c¢) Divergent 3) Construction and
thinking use of tests
d) Crystalized 4) Predict future
intelligence success in
employment
Codes :
a b ¢ d
(A) 4 3 1 2
B) 4 2 3 1
© e 1 2 3
(D) 3 4 1 2

45. Assertion (A) : A test can be reliable but
need not be valid.

Reason (R) : A test should be both reliable

and valid for administration.

(A) Both (A) and (R) are true and (R) is
the reason of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

46. The point of maximum visual activity is
(A) Fovea
(B) Retina
(C) Blind spot
(D) Visible spectrum
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47.

48.

49.

50.

Bexd m@dd £07 RoLOPAT FoIersSodn
(A) 3S2rr (B) zm08

(C) B8 Fe3od (D) BORnsd
FINTYNT, CBRI)TO woBd T
SOTFROT AODOGIORZT 2

(A) P=Snsd (B) ww3emsnsd

(C) =e3odned (D) z3R2nees

we I & @, 11 Snodrt Bredrd =) dr

Qe ﬁ.raeca’on’v’as’q=t v odneNLTROTY
Frfelowiring emgdd?% &80,

=1 =3, 1T
a) 28RWO Rod 1) sk e
b) aadqs 2) goedy
) SRS 3) RO

d) z3onned  4) wPEednod no®
RN :
a b g d
(A) 3 4 & 1
(B) 4 1 p. 3
(C) 4 2 1 3
(D) 4 3 2 1

aéua’mag (A) : STy o WY WO

RReRTFRTS) ToDT) , VOO TIRT

DERETINTZE.

502 (R) : Reesngrnish Irz* g exonos

RoéF TPNTRY DY,

(A) (A) 3 (R) ndcz@n =g, 33 (A) #(R)
0N E

(B) (A) 3 (R)nedze a3 223 (A) #(R)
ROIRT QFTFBOY,

(©) (A) =g =3 (R) AR

(D) (A) Ro¥y & (R) =,

StudySite.org

47. The sensation concerned with perception
of body position is

(A) Kinesthesis
(B) Hallucination
(C) Psychokinesis
(D) Illusions

48. Which of the following is governed by
simplest neural pathways ?

(A) Emotions
(B) Drives
(C) Reflexes
(D) Balance

49. Match List I with List II and select the
correct answer using the codes given
below the list.

List I
a) Pituitary gland

List 11
1) Estrogene
b) Epinephrine 2) Thyroxine

¢) Mental dwarfness 3) Adrenalin

d) Gonads 4) Growth/gland
Codes :
a b c d
(A) 3 4 & 1
(B) 4 1 2 3
(C) 4 2 1 3
(D) 4 3 2 1

50. Assertion (A) : The brain has left and
right hemispheres, and control is
contralateral

Reason (R) : The hemispheres are not

connected by corpus callosum.

(A) Both (A) and (R) are true and (R) is
the reason of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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